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ys [Qaunt
Yy-111

Note :This paper contains Seventy Five (75) multiple-choice/Assertion and
Reasoning/matching questions/carrying TWO (2) marks. Attempt All the

questions.

8 c 2 Wl AR (9u) eglselly uadl, WV wA BSsL siladil MaHL
8. dH Uil wsl @ualdl 8. Hdls Wl A () @ &,

1. Which of the following functional
properties of protein is used for ice-

cream preparation ?
(A) Flavour binding
(B) Foaming
(C) Gelation
(D) Viscosity

2. Blanching prior to freezing or

drying is used primarily to :

(A) Wilting the tissues to facilitate

packing
(B) inactivate enzymes
(C) activate enzymes

(D) retain the colour of pigments
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The temperature at which the
mixtures of vapors with air will

ignite is called :
(A) Smoke point
(B) Flash point
(C) Fire point
(D) Boiling point

Which of the following oleoresins is

extracted from clove ?
(A) Acrolein
(B) Eugenol
(C) Peperin
(D) Capsisin

Protein separation technique based

ON SIZ€ 18 ..coeccennerrnenens -

(A) Adsorption chromatography
(B) Ion exchange chromatography
(C) Electrophoresis

(D) Differential solubility
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Parenteral feeding can be done by

feeding through :

(A) Nasogastric tube

(B) Gastrostomy

(C) Central vein

(D) Mouth

p-oxidation of palmitic acid gives:
(A) 16 molecules of acetyl CoA
(B) 8 molecules of acetyl CoA
(C) 24 molecules of acetyl CoA
(D) 10 molecules of acetyl CoA

The form of vitamin A which
constitutes the photosensitive group

of various visual pigment proteins :
(A) Retinol

(B) 13-cis retinol

(C) 11-transretinol

(D) 11-cis retinol

Home Science-111

6.

A-niell sil g WIea glgla
dUYAHL U] 6 -

(A) USRS 240

(B) kel

(C) A-24 A

D) Gy (4w)

yaxldls sAlsi oflai—iellSan
alzl :

(A) 15 wllada si-3 1 &
B) ¢ Aflada si-u 1 9

©) ¢ AAleifa si—» 1A B
(D) 10 AAlada s-al 1A &

Renlii— o Aa3u 3 F glte 2uudi
Folglen Midl-usi g2l A=lda oud
Hes 8 :

A) WHia

B) 13- 3dla

(©) 11—-g-uid-ia

D) 11—du d-ia

[P.T.O.]



10.

11.

Respiratory Quotient (RQ) falls in

all the conditions except :

{A) Acidosis
(B) Febrile conditions
(C) Diabetes mellitus

(D) Starvation

- Antinutritional factor in egg is :

(A) Trypsin inhibitor
(B) Saponin
(C) Avidin

(D) Phytic acid

The following offers a scheme of

subsidized pricing :

(A) Fast food establishment

(B) Restaurant

(C) Industrial cafeteria

(D) Air catering services
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12. The star rating of the hotel is 12, giedd 2212 3L Aaqar W2l

achieved by : o3Rud § :

(A) the palace hotels (A) QA die

(B) energy conservation practices

followed

(B) Qo olad Hi2 avidl uglazi

(€) Zedl wiA k<l y@ani-l wdiast
(C) the number and kind of

facilities provided UL e B

(D) the extent of ecofriendly D) 2ell ¢t uldze Al velwil

practices followed ALY 6

13. What is the correct sequence of the  13. Al S+l AL #4541 & ?

managerial functions ?

@ g 59
(@) Leading N

b) AU
(b) Planning

¢) gl
() Staffing

d) dwd- 9
(d) Organizing 2 3

(e) Controlling ORI g

Codes : s
(A (@ @) @) W) (@ Ay @ G @ @ (o)
B @ () (a) (d) (e (B) ® © @@ (d) {e)

C) ) B) @ (e (@
M B @ ©© (@ @

G b @ @ @

D &) @@ € @ @
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14. One of the following does not fall

15.

under the category of restaurant

type which is that ?
(A) Coffee shop

(B) Casino

(C) Grill room

(D) Dining room

Assertion (A) : A specialist in
management finds it difficult to
transfer his/her skills successfully
from one area of application

(institution) to another.

Reason (R) : Management is

universal.

Codes :

(A) (A) and (R) are false

(B} (A) is false and (R) is true
(C) (R) is false and (A) is true

(D)_ (A) and (R) are frue
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16.

17.

18.

In a seam line if loops not formed

regularly it results in :

(A) Slipped stitches

(B) Unbalanced stitches

(C) Staggered stitches

(D) Stitches with varying density

Assertion (A) : Washing soda plays
an important role in laundry for

cleansing.

Reason (R) : It softens water,
imulsifies grease stains and removes
vegetable stains and scorch

marks

(A) (A) is right and (R) is wrong
(B) Both (A) and (R) are correct
(C) (A) is wrong and (R) is correct
(D) Both (A) and (R) are wrong

The following garments in the
industry are given minimal

pressing :

{A) Foundation garments
(B) Pleated garments
(C) Knitted synthetic

(D) Woven
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19.

20.

21.

Fashions are copied by middle
income group from high income

group is explained in the theory :
(A} Bottom-up

{B) Up and down

(C) Trickle down

(D) Trickle up

A sewing thread should have a
property of :

(A) High friction resistance

(B) Extensibility

(C) Elastic recovery

(D) Pliability

The load at which the specimen

breaks is called :
{A) Mass stress
{B) Specific strength

(C) Breaking length

(D) Breaking load
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22. Contribution of textile industry to 22,

the country’s export earnings is :
(A) 16%
(B) 20%
(C) 18%

D) 24%

23. Fabric colour that changes with 93,

temperature is :

(A) Photochromic colour
(B) Thermocl:;romic colour
(C) Radiant colour

(D) Metallic colour

24, Weave with small designs stitched o4

into the cloth while weaving :
(A) Swivel weave
(B) Dobby weave
(C) Lappet weave

(D) Leno weave
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25. Seam strength is increased in

26.

27.

knitted garment by using :

(A) Lock stitch

(B) Overlock stitch
(C) Double lock stitch
(D) Chain stitch

Standardization mark

agricultural products is :
(A) BIS

(B) Agmark

(C) FPO

(D) Hallmark

for

The standard for height of work

surface is :

(A) Shoulder height
(B) Elbow height
(C) Knee height

(D) Popliteal height
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28.

29,

30.

Place all the rooms, which are 28.

usually occupied by day on the :
{A) North and east direction

(B} North and south direction
(C) East and west direction

(D) North and west direction

In Ikebana
arrangement following number of

sprays are used :
(A) Two

(B) Four

(C) Three

(D) Five

In western style table setting the 30.

spoons and knives are placed to the

following side of the plate :
(A) Right side

(B) Left side

(C) Top side

(D) Bottom side
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31.

32.

Cephalocaudal sequence in
development of the child refers

to :

(A) development from central to
periphery

(B) development from head to toe

(C) from general to specific aspects

of development

(D) development from conception to

birth
Cognitive theorists Piaget and
Vygotsky devoted their lives to
studying cognitive development.
Which aspect did Vygotsky place

more emphasis on ?

(A) Understanding cognitive

structures
(B) Aspect of social interactions
(C) The concept of sensitive periods

(D} Observational learning
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33.

34.

Parents who practice a nurturing
parenting style are :

(A) Interested in their child’s
behaviour, seldom prescribe
rules but rely on modelling and
family discussion to instill well
defined set of rules and values

(B) Controlling but loving in
guiding their children through

everyday interactions

(C) Nurture but do not provide any

structure in the environment

(D) Have more control over their
children and plan and manage
their activities

One of the key large scale programs
initiated by the central government
of India to ensure holistic

development of the young child is:

(A) National
Educational Research and
Training (NCERT)

(B) Integrated Child Development
Service (ICDS)

(C) National Children’s Fund
(NCF)

(D) National Institute of Public
Child

Council for

Cooperation and

Development (NIPCCD)
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35.

36.

37.

Which according to you is the most
suitable/appropriate method to
measure infant development
and delays in mental and motor

domains ?

(A) Binet Kamath's test of

intelligence

(B) Developmental assessment

scale for Indian infants

(C) Growth monitoring and Mamta

card
Vineland social maturity scale

(D)

The individual learns of the
existence of the new idea but lacks

information :
(A) Evaluation
(B) Satisfaction
(C) Awareness
(D} Needs

The best approach to prepare

curriculum for NFE is :
(A) Cultural approach
(B) Functional approach
(C) Trial based

(D) Religion based
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38.

39.

40.

Homophily refers to the similarity
between the two in terms of

psychological attributes :

(A) Serpanch and Extension

agency
(B} Leader and Serpanch
(C) Leader and his followers
(D) Leader and extension agency

Adult education evaluation is

effective when it is :
(A) Rigid

(B) Broad

(C) Group based
(D) Participatory

The degree to which the results of

an innovations are visible to others :
(A) Action

(B) Attention

(C) Adoption

(D) Observability
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41.

42.

The ‘JDCP’ was located in rural
area with a large tribal population

in the state of :

(A) Gujarat

(B) Uttar Pradesh
(C) Andhra Pradesh
(D) Madhya Pradesh

The role of mediatory between
specialists and layman is played
by :

(A) Academicians

(B) Government

(C) Development practitioners

(D)} Funding agencies

of

Decoding is the process

interpretation of the message by:
(A) Receiver of the message

(B) Sender of the message

(C) Designer of the message

(D) Planner of the message
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44.

48,

The first educational television

programme for national

development is known as :
(A) SITE

(B) ETV

(C) HETV

(D) KCP

The term for advertising for non-
commercial purposes and for the

betterment of the society is :
(A} Devcom

(B) C4D

(C) M4D

(D) Social advertising

Longitudinal study is a research
design where the researcher
studies : '

A) A sample at different points of
time over a specified time frame

(B) A sample only once for 3-4

weeks

{C) Covers people of different age

groups at the same time

(D)

Covers samples that resides

even at long distances
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47. Which of the following is an

example of probability sampling ?
(A) Convenience sampling

(B) Purposive sampling with

heterogeneous groups
(C) Quota sampling

(D) Systematic random sampling

. In experimental research, the

researcher studies a cause and effect

relationship by doing the following :

(A) Measures things as they exist

in the field

(B) Compares 2 groups under

similar situations

(C) Manipulates the independent
variable in one group by a

treatment/intervention

(D) Uses special software to obtain

particular results
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49.

50.

A measure is said to be ‘reactive’
if.

(A) it reveals some specific

characteristics of the

participants under study

(B) it helps in scoring the
questionnaires or observation

records

(C)

awareness of being observed/

measured changes the

behaviour of participants

(D) Objects of participants do not
produce the expected results

Ordinal scales allow us to :

(A) Categorise the variables into

clusters

.(B) Rank order events, scores on

the variable being measured

(C) Differentiate measurement
points on a variable with equal

distance between them

(D) Identify the meaning of a
specific variable under study
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51. What is the most commonly used

52.

“and correct form of citation, when

you report past work as a part of

your research paper or Journal

article ?

(A)

(B)

(&)

D)

use first name of the author and

mention the year in brackets

use last name of the author/s
year and present names in

alphabetical order

Mention place of study with

author’s name and year

There is need to mention only

name of the author with year

The gas used as a medium for the

preservation of food is :

(A) Nitrogen

(B)

(©)

D)

Oxygen
Hydrogen

Chlorine
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53.

64,

55.

Pigment which falls in flavonoid

subgroup is :

(A} Lycopene
(B) B-—carotene
(C) Chlorophyll
(D) Anthocyanins

Selenium status is assessed by

mMeasuring ..................

(A) Glutathione peroxidase in

serum
(B) Selenium in liver
(C) Glutathione peroxidase in liver
(D) Glutathione reductase in serum

Which .of the following is not a

component of dietary fibre ?
(A) Cellulose

(B) Pectin

(C) Lignin

(D) Agar
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56. Arrange employment process in

b7.

correct sequence :

(i) Induction

(if) Application form

(tzz) Other tests

(fv) Interview

(v) Contract negotiations
Codes

(A) @) @) @) G) @
B) Gy & G Gv) @)
©) ) @ G G6) (e22)
D) @) G G © @)

Which one of the follc;wing is not ~

the type of menu ?
(i) Ethnic menu
(ii) Cyclic menu
(z11) Set menu

(iv) Table of the host
(v} A-la carte

(vi) Quality menu
Codes :

A @

(B) (w)

(C) (vi)

(D) (i)
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wwoudl wlFYid  UtUL 1ML

Alsal

@) ©ssur

(@) SUAEAUA—HID

@iy 2wl
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58. Match the following media of

cooking in List I with the methods

in List II :

List I List II
(@) Water media (i) Stewing
(b) Fat media (i) Saute

(c) Heat media (iii) Baking

(d) Smoke media (fv) Garnishing

(v) Smoking
Codes :
@ 0 ©© @@
A @ @ @) @)
B) @ @ W
O & @ G
M © @ @& @
59. The nitrogenous waste excreted by
the body are all except :
(A) Creatinine
(B) Urea
(C) Uric acid
(D) Purines
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60. Bronfenbrenner's bicecological

61.

62.

apprecach and Vygotsky’s socio-
cultural theory fall under the
category of the :

{A) Contextual perspective
(B) Humanistic perspective
(C) Ethnological perspective
(D} Evolutionary perspective

Which of the following is not a long
term outcome associated with

childhood obesity ?

(A) cognitive deficits

(B) being overweight as adults
(C) greater risk of heart disease
(D) higher prevalence of diabetes

Seriation, classification and

conservation are part of :
(A) Organisational skills
(B) Cognitive skills
(C) Language talent

(D) Skills for emotional regulation
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63. Reciprocal socialization of children

is

(A)

(B)

©

D)

(A)

(B)

D)

the techniques of rearing a
child to be a social member of

his/her community

Children not only learn from
adults but also have the

potential to teach them

Occurs specially during

teen age stage

More applicable to

individualistic western society

64. Recent approach to curriculum

development is known as :

Subjective approach

Integrated approach

(C) Objective approach

Specific approach
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65.

66.

67.

—‘*

Abaca 15 a : 65.

(A) Leaf fiber
(B) Seed hair fiber
{C) Fruit fiber

(D) Bast fiber

A firm that buys fabrics, designs  66.

garment and assembles pattern
pieces and dispatches the lots from

their factory is known as :
(A) Jobber

(B} Marker

(C) Manufacturer

(D) Wholeseller

‘Sungadi’ is a resist-dyed textile 67.

originally from :

(A) Gujarat

(B) Andhra Pradesh
(C) Orissa

(D) Tamil Nadu
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68.

69.

70.

The step of ‘supervising’ has the 68.

following components :
() Guiding

(i) Directing
(iii) Checking
(fv) Goal setting
(v) Integrating
Codes :

(A) (i) and (@Giz)
(B) (iii) and (iv)
(C) () and (i)
(D) (v) and (v)

Which of the following is not a good  69.

way to utilize the resources

efficiently ?
(A)
(B)

Creat resources

Use of one resource to achieve

one goal
(C)
(D)

expand appreciation
substitute resources
Fringe benefits are :
(A) Indirect income

(B) Money income

(C) Social income

(D) Psychic income
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71. Which of the following are not

72.

human resources ?
(& Cognitive

(iz) Psychomotor
(zi£) Temporal

(tv) Social

(v) Natural

(vi) Affective

(vii) Effective
Codes :

A @, @), i)
(B) Gv), @), (i)
©) @), @, )
D) @), @), @)

Outcomes related to physical skills

comes under :

(A) Macro-level objectives
(B) Micro-level objectives
(C) Manipulative objectives

(D) Specific objective
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73. The process of determining to what
extent the educational objectives

have been achieved is called :
(A) Educational planning

(B) Educational administration
(C) Educational evaluation
(D) Educational management

74. National Research Centre for

women in Agriculture (NRCWA) is

located at :
(A) Punjab
(B) Gujarat
(C) Orissa
(D) Kerala

756. The most expensive teaching

method is :

(A) Exhibition
(B) Home visit
(C) Demonstration

(D) Educational tour
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